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+0.000 006802 cos (5M - 3M, — 259°918)
+0.000 005457 cos (2M, - 2M; - 71°188)
+0.000 003569 cos (SM2 - M1 = 77275)
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+ 0200077 sin (237°24 + 150°27 T)
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+0°00 313 x cos (2M - 2M, - 148°225)
+0.00 198 cos (34 - 3M, + 22565)
+0.00136 cos (M - M, - 119°107)
+0.00 096 cos (3M - 2M; - 1359912)
+0.00 082 cos (Ms - M, - 2083087)
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+0.000 022 501 x cos (2M -2M, - 58°208)

+0.000 019045 cos (3M - 3M; + 929577)
+0.000 006 887 cos (Ms - M2 - 1182090)
+0.000 005172 cos (M - M, - 29°110)

+0.000 003620 cos (5M — &4M2 -~ 1047208)
+0.000 003 283  cos (4M - 4Mz + 637513)
+0.000 003074 cos (2Ms - 2M2 - 55%167)
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+0°00 705
+0.
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+0.
+0.
+0.
+0.
+0.

+0
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-0°01 133 sin (3Ms - 8My + 4M)
-0°00 933 cos (3Ms — 8M, + 4M)

x cos (Ms - M, - 48°958)
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00 607 cos (2Ms — M, - 1882350)
00 445 cos (2Ms - 2M, - 1912897)
00388 cos (M - 2M, + 20°495)
00238 cos (M - M, + 35°097)

.00 204 cos (2M - 3M, + 158°638)
+0.

00177 cos (3M, - M, - 57°602)
00136 cos (2M - 4M, + 154°093)
00104 cos (Mg + 17°618)

.000 053 227 x cos
000 050989 cos
€00 038 278 cos

.000 015996 cos
C00 014764  cos
000 008 966 cos
000 007 914 cos
000 007 004 cos
000 006 620 cos

.000 004930 cos
000 004 693 cos
000 004 571 cos
000 004 409 cos
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(Ms - M, + 41°1306)
(245 - 2M, - 101°9847)
(2Ms = M, - 9893292)
(M - M, - 552555)

(2M - 3M, + 68°622)
(Ms - 2M, + 43°615)
(3Ms - 2M, - 139°737)
(2Ms - 3M, - 102°888)
(M = 2M, + 113°202)
(3Ms - 3M, - 762243)
(34 - 5M, + 190°603)
(2M = LM, + 244°702)
(3Ms - M, - 115°828)
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+(0°331 364 - 0°010281 v - 0°004 692 v?) sin V
+(0°003 228 -~ 0°064 436U + 0°002 075 V?) cos V
-(0°003 083 + 02000 275v - 02000489 v?) sin 2V
+02002 472 sin ¥

+02013 619 sin

+0°018 472 sin 27

+02006 717 sin 3g

+02002 775 sin 4%

+(0°007 275 - 0°001 253 V) sin g sin Q

+0°006 417 sin 27 sin §

+0°002 439 sin 37 sin @

-(0°033 839 + 0°001125V) cos § sin @

-0°003 767 cos 2% sin @

-(0°035 681 + 0°001 208 v) sin g cos §

-0°004 261 sin 2% cos @

+02002 178 cos @

+(-02006 333 + 0°001 161 V) cos ¢ cos @

-0%006 675 cos 25 cos @

~0°002 664 cos 37 cos @

-02002 572 sin [ sin 23

-09003 567 sin 2T sin 2Q

+0°002 094 cos Z cos 2@

+0°003 342 cos 2r cos 2Q
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+(3606 + 130V - 430?) sin V
+(1289 - 580v) cos V

-6764 sin C sin @

-1110 sin 23 sin @

-224 sin 3 sin @

~204 sin @

+(1284 + 116V) cos § sin
+188 cos 2% sin @

+(1460 + 130V) sin § cos @
+224 sin 27 cos @

-817 cos @

+6074 cos § cos @

+992 cos 2L cos @

+508 cos 3G cos @

+230 cos 4T cos @

+108 cos 5C cos @

-(956 + 73V) sin L sin 2@
+448 sin 27 sin 2Q

+137 sin 3% sin 2Q
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+(-997 +
+480 cos
+148 cos
+(-956 +
+490 sin
+158 sin
+179 cos
+(1024 +
-437 cos
~132 cos

108 V) cos [ sin 2@
2Z sin 2Q
3¢ sin 2Q
99 u) sin L cos 2Q
2 cos 2Q
3¢ cos 2Q
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75v) cos T cos 28
27 cos 2@
3% cos 2@
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+(03007 192 - 02003147 V) sin V
+(-03020 428 - 02000 675y + 02000197 v?) cos V
+(02007 269 + 0°000672V) sin Z sin @

~-0°004 344
+0°034 036
+0°005 614
+07002 964
+07037 761
+0°006 158
-02005 603
-02005 356
+02002 722
+0°004 483
-0°002 642
+0°004 403
-0%002 536
+07005 547
-0?002 689

sin
cos
cos
cos
sin
sin
cos
sin
sin
cos
cos
sin
sin
cos
cos
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T sin @
2T sin g
3% sin 2
T cos @
2g cos @
T cos Q

z sin 2§
27 sin 2@
T sin 2@
2% sin 2Q
T cos 2@
27 cos 2Q
Z cos 2@
27 cos 2@
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+205 cos g

+693 cos 27
+312 cos 3¢
+147 cos 4T
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+299 sin g sin @
+181 cos 27 sin @
+204 sin 2L cos @
+111 sin 3C cos @
-337 cos § cos @
~111 cos 2Z cos @
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+(-02814 181 + 0°018150 v + 0°016 714 v?) sin V
+(=0°010 437 + 0°160906 U - 0°004 100 v?) cos V
+09007 581 sim 2V

-02007 986 sin W

-09148 811 sin ¢

~=0°040 786 sin 27

-0°9915 2C8 sin 3z

-02006 339 sin 4%

-02006 244 sin @

+(0°008 931 + 0°002728 V) sin L sin @
-02016 500 sin 2Z sin @

-02005 775 sin 3% sin @

+(0°081 344 + 0°003 206 V) cos L sin @
+0°015 019 cos 2Z sin §

+(0°085 581 + 0°002494 V) sin  cos Q
+(0°025 328 -~ 09003117 V) cos  cos @
+0°%014 394 cos 2% cos §

+02006 319 cos 3% cos ¢

+02006 369 sin § sin 2Q

+02009 156 sin 2Z sin 2Q

+0°007 5325 sin 3y sin 2§

~0°005 236 cos L cos 2@

-09007 736 cos 27 cos 2@

-02007 528 cos 3y cos 2Q
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+(=7927 + 2548y + 91vu2) sin V
+(13381 + 1226 v - 25302) cos V
+(248 - 121v) sin 2V

-(305 + 91 V) cos 2

+412 sin 23

+12415 sin @

+(390 - 617v) sin G sin @
+(165 ~ 2046 vy) sin 2Z sin @
+26599 cos Z sin @

-4687 cos 27 sin @

~1870 cos 3% sin @

-821 cos 4% sin @

=377 cos 5C sin @

+497 cos 2y sin @

+(163 - 611 V) cos @

-12696 sin § cos @

-4200 sin 2 cos @

-1503 sin 3% cos @

-619 sin 4T cos @

-268 sin 5 cos @

~(282 + 1306V) cos g cos §
+(-86 + 230V) cos 2Z cos §
+461 sin 2y cos &

=350 sin 24

+(2211 - 286 v) sin Z sin 2Q
=2208 sin 2 sin 24§

-568 sin 3% sin 2@

=346 sin 47 sin 2Q

-(2780 + 222v) cos T sin 2Q
+(2022 + 263 V) cos 2¢ sin 2§
+248 cos 3T sin 2Q

+242 sin 3y sin 2Q

+467 cos 3y sin 2Q

=490 cos 2Q

-(2842 + 279v) sin L cos 24Q
+(128 + 226 V) sin 2 cos 2Q
+224 sin 3% cos 2§

+(-1594 + 282 V) cos [ cos 2§
+(2162 = 207 V) cos 2Z cos 2Q
+561 cos 3% cos 2Q

+343 cos 4C cos 2Q

+469 sin 3y cos 29

-242 cecs 3y cos 24

-205 sin T sin 3§

+262 sin 3C sin 3@

+208 cos T cos 3§

=271 cos 3T cos 3@

-382 cos 37 sin 49

=376 sin 3C cos 4@
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+(0°077 108 + 0°007 186 v ~ 0°001 533 v?) sin V
+(0°045 803 - 0°014766 U - 0°000 536 V%) cos V
-02007 075 sin T

-02075 825 sin Z sin §

-0°024 839 sin 27 sin §

-02008 631 sin 3L sin @

-0°072 586 cos @

-02150 383 cos L cos &

+0%026 897 cos 27 cos @

40?010 053 cos 3¢ cos ¢

-(0°013 597 + 0°001719v) sin g sin 2§
+(-02007 742 + 0°001 517 V) cos Z sin 2@
+(0°013 386 - 0°001 375U) cos 2Z sin 2@
+(-0°013 667 + 02001 239 V) sin T cos 2Q
+02011 981 sin 2Z cos 22

+(0%014 861 + 02001136 V) cos Z cos 2§
-(02013 064 + 0°001 628 V) cos 2C cos 2§
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+3572V sin V -1590 sin 2Z cos @

42933 cos V -647 sin 37 cos @

+33629 cos T ~344 sin 47 cos @

-3081 cos 2¢ +2885 cos § cos @ ‘
=1423 cos 3¢ +(2172 + 102V) cos 2L cos @
-671 cos 4z +296 cos 3L cos @

-320 ces 5C =267 sin 2L sin 2@

+1098 'sin @ -778 cos T sin 23

-2812 sin [ sin ¢ +495 cos 27 sin 29

+688 sin 2L sin & +250 cos 3% sin 2@

-393 sin 3C sin @ -856 sin { cos 2Q

=223 sin 4C sin § +441 sin 27 cos 2@

+2138 ccs ¢ sin § +296 cos 2T cos 29

=999 cos 2% sin @ +211 cos 3¢ cos 2¢

-642 cos 3¢ sin @ -427 sin T sin 3@

—-325 cos 4T sin Q +398 sin 37 sin 3@

-890 cos @ +344 cos T cos 3¢
+2206 sin T cos -427 cos 3% cos 3@
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+0°000 747 cos [ sin @
+0°001 069 cos ¢ cos @
+0°002 108 sin 2T sin 2Q
+0°001 261 cos 2% sin 2Q
+0°001 236 sin 2T cos 2Q
-02002 075 cos 2§ cos 2Q
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- P, n=3S5-4¢, 6=G-35

A= (0°.864 319 - 0°.001 583 u) sin H
(0.082 222 - 0.006833u) cos &
0.036 017 sin 2H
0.003 019 cos 24
0.008 122 sin W
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B = 0°120303 sin 4
(0.019 472 - 0.000947 v) cos H
0.006 197 sin 24
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+ (-3349 + 163V) sin H
+ 20981 cos H
+ 1311 cos 2H
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(0°.010122 - 0°.000988 v) sin (S + n)
(-0.038 581 + 0.002031 v - 0.001910U?) cos (S + n)
(0.034 964 - 0.001038 v + 0.000868 L?) cos (25 + n)

.005 594
.014 808
.005 794
.002 347
.009 872
.008 803
.004 308

sin
sin
sin
cos
sin
sin
sin
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(0°.000458 sin n - 0°.000642 cos n - 0°.000517 cos 49) sin S
(0.000 347 sin n + 0,000853 cos n + 0.000517 sin 4n) cos S
0.000 403 (cos 20 sin 2S5 + sin 28 cos 25)
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4985 cos g
1230 cos S
3354 cos N
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(5795 cos S - 1165 sin S + 1388 cos 25) sin n
(1351 cos S + 5702 sia S + 1388 sin 25) cos N
904 cos 28

894 (cos © - cos 38)
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Mg = 37°.73063 + 218°46134 T - 0°000 070 T2
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g =G-P, n=GG-2¢, 8=G-S

A= (-0°.589833 + 0°.001089v) sin H
) (-0.056 094 + 0.004 658 V) cos H
0.024 286 sin 2K
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0°.024 039 sin H
0.025 303 cos A
0.006 206 sin 2H
0.005 992 cos 2H
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+ 4389 sin H + 1129 sin 2H
+ 4262 cos H + 1089 cos 2H

- 817 sin H + 8189 cos H + 781 cos 2H
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- 0°.009 556 sin C

- 0.005178 sin n

0.002 572 sin 20

0.002 972 cos 20 sin G
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